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NEW QUESTION 1
You have a set up min-max planning at the subinventory level with the following to source item AS12312 for Organization: M1:

 Source Type: Organization

 Organization: M1
What type of supply request will be generated?

A. Movement request
B. Internal Requisition
C. Purchase Requisition
D. None; this is an invalid setup
E. Intraorganization transfer order

Answer: E

NEW QUESTION 2
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalanceImportTemplate.xlsm
B. InventoryReservationImportTemplate.xlsm
C. InventoryTransactionImportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 3
You set up an item organization and an inventory organization as part of your customer’s requirement. Your customer has, by mistake, performed a receipt
transaction in the item organization instead of the
inventory organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.
B. Perform a return of item and receive the item again in the correct organization.
C. It is not possible to receive item in the item organization.
D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect any other operation.

Answer: C

NEW QUESTION 4
Given an HttpServletRequest request and an EJB SessionContext ctx. Which is a valid way to retrieve the Principal invoking either behavior?

A. request.getCallerPrincipal() and ctx.getCallerPrincipal()
B. request.getUserPrincipal() and ctx.getUserPrincipal()
C. request.getCallerPrincipal() and ctx.getUserPrincipal()
D. request.getUserPrincipal() and ctx.getCallerPrincipal()

Answer: A

NEW QUESTION 5
A user is performing a material return transaction against access stock in an Inventory organization; however, the user fails to select the Physical Material Return
Required check box.
What happens?

A. It is considered as accounting-only return.
B. Stock is reserved.
C. A transfer order line remains open.
D. Shipment lines are created.

Answer: A

NEW QUESTION 6
Your customer has received 50 boxes of item A (priced at $10 per box) and these items are transferred to the asset Inventory organization. There are no additional
quantities in any of the inventory organizations apart from the received 50 boxes. After running all the necessary cost accounting and receipt accounting processes
successfully, the item valuation for item A is still zero.
What is the reason?

A. Items are not consigned items but ownership is still with the supplier.
B. Items are consigned items and ownership lies with the supplier.
C. Items are consigned and ownership is transferred to “owned”.
D. Items are not consigned items and ownership is with the organization.

Answer: B

NEW QUESTION 7
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Which execution document is created by supply chain orchestration when a make request is received?

A. Transfer Order
B. Work Order
C. Routing Create
D. Movement Request
E. Purchase Order

Answer: B

NEW QUESTION 8
Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You created three reference data sets for each
business unit. However, the user is still able to see the values in the Transaction Type list of values which are not defined in the business unit data set.
What is the reason for this behavior?

A. The user is seeing the values defined in the common se
B. The values should be removed from the common set.
C. Receivables Transaction Types are common across business units.
D. Reference Data Sets cannot be used uniquely across business unit
E. They can only be used at the Legal Entity level.
F. The user has multiple Business Unit Roles and, therefore, is able to see additional values.

Answer: A

NEW QUESTION 9
Given the code fragments:

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);
B. Contex
C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c
entityManager.lock(emp);EntityManager.merge(emp);
D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B
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NEW QUESTION 10
Given:

You are creating an Alarm management system. When you create a new alarm, you want it to create an alert that is triggered once at the specified time.
Which method should you call on Line 9 to create the timer?

A. timerService.createCalendarTimer(alarmDate, config);
B. timerService.createSingleActionTimer(alarmDate, config);
C. timerService.createIntervalTimer(alarmDate, -l, config);
D. timerService.createTimer(alarmDate, -l, config);

Answer: D

NEW QUESTION 10
While creating the consignment agreement, you have set the consumption advice frequency to “monthly” and the billing cycle close date to “31st August, 2020”.
What will happen when you run the consumption advice process on 31st August, 2020?

A. No consumption advice is created.
B. Consumption advice is created and the next closing date is set to 30th October, 2020.
C. Consumption advice is created and the next closing date is set to 7th September, 2020.
D. Consumption advice is created and the next closing date is set to 30th September, 2020.

Answer: D

NEW QUESTION 11
Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume that the reorder quantity is 24 and you
specify 10 for the fixed lot multiple and enable rounding the reorder quantity.
What will be the reorder quantity?

A. 30
B. 20
C. 24
D. 25

Answer: A

NEW QUESTION 13
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations
B. Manage Subinventories
C. Manage Inventory Organizations
D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 18
Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
Which three structures should the customer use the to do this?

A. Warehouse, Subinventory, and Locators
B. Cost Centers, Organizations, and Locations
C. Cost type, Default Cost Structure, and Item Organization
D. Divisions, Business Units, and Departments

Answer: D
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NEW QUESTION 20
Given:

Which annotation do you use on line 1 to ensure that clients immediately time out when attempting to concurrently invoke callMethod () while another client is
already accessing the bean?

A. @AccessTimeout (value = 1, unit = TimeUnit.SECONDS)
B. @AccessTimeout (null)
C. @AccessTimeout (-1)
D. @AccessTimeout (0)

Answer: D

NEW QUESTION 21
Your customer wants to transfer material from facility A to facility B. They are using the interorganization transfer to perform the transaction in the system. Their
requirement is “whenever material is transferred from their facility A to facility B, facility B needs to pay 5% additional amount to the current item cost”.
Which task must be set up to accomplish this requirement?

A. Manage Interorganization Markup
B. Manage Transfer Pricing Rules
C. Manage Cost Plus Pricing
D. Manage Cost Organization Relationships
E. Manage Organization Relationships

Answer: D

NEW QUESTION 25
Which of these can be a JPA entity?

A. Enum type
B. Abstract class
C. Interface type
D. Final class

Answer: A

NEW QUESTION 29
Given the code fragment:

When the context root is requested http://host:port/context, how does the container resolve this mapping?

A. thirdServlet handles the request.
B. firstServlet handles the request.
C. The container throws an error at startup.
D. secondServlet handles the request.

Answer: C

NEW QUESTION 32
Which two approaches would result in the current date being added to the output of a JSP? (Choose two.)

A. <%= out.printIn(new java.util.Date()) %>
B. <% out.printIn(new java.util.Date()); %>
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C. <%= new java.util.Date() %>
D. <% System.out.printIn(new java.util.Date()); %>

Answer: AC

NEW QUESTION 34
Given the code fragment:

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)
B. u.setProperty(Schema)
C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 38
Which statement is false about generating an Internal Material Transfer for expense destination Transfer Order?

A. Expense destination transfers are expensed upon delivery hitting an expense account instead of an inventory asset account as would be the case for inventory
destination transfers.
B. If the receipt is not required Cost Accounting will pick up both the issue and receipt activity from the single inventory transaction “Transfer Order Issue”
C. If the receipt is required, the accounting of the receipt delivery transaction will happen only on Receipt Accounting because there will not be a delivery
transaction in inventory.
D. Costs for Lot and serial numbers are tracked at put away time when the items are recorded in a destination inventory location.
E. Cost Management will pick up the delivery transaction directly from Receiving and process the expense accounting from that transaction.

Answer: D

NEW QUESTION 41
Your customer wants to prevent customer shipments out of a specific subventory. They are setting up a material status to control this.
Which transaction do they need to disallow?

A. Sales Order Pick
B. Sales Order Issue
C. Ship Confirm
D. Miscellaneous Issue
E. Move Request Putaway.

Answer: B

NEW QUESTION 46
You have been asked to implement internationalization in your JSF web application. Where do you configure the supported locales?

A. in the <f:view> tag of the Facelet page
B. in the web.xml file
C. in the faces-config.xml file
D. in the src folder

Answer: A

NEW QUESTION 47
Given the code fragment:

Which URL triggers the invocation of the getEmployee () method?

A. <base url>/Employees/89724
B. <base url>/Employees/J6349
C. <base url>/Employees/id:a7280
D. <base url>/Employees/id/J6349
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Answer: B

NEW QUESTION 50
While negotiating the terms of the consignment agreement, the buyer and the supplier mutually agree to set aging onset point as receipt and the aging period as
five days. The terms also say that the consumption advice will be generated daily.
In which three scenarios will the goods be transferred from the supplier’s ownership to buyer’s ownership?

A. You received the goods today and you decided to issue the goods after days without transferring the ownership.
B. You received the goods today and for the next one week you do not plan any action on the same.
C. You received the goods today after six days you decide to transfer the ownership using the “create transfer to consigned transaction” task.
D. You received the goods today and you transfer the ownership using the “create transfer to owned transaction” task.
E. You received the goods and after four days you return the material to the supplier.
F. You received the goods today and after three days you transfer the ownership using the “create transfer to consigned transaction” task.

Answer: ABD

NEW QUESTION 54
Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and the transfer order is created though the
FBDI process.
What is the primary interface data that needs to be completed in the template?

A. CST_I_INCOMING_TXN_COSTS
B. INV_SUBINVENTORY_TRANSFER
C. INV_TRANSACTION_LOTS_INTERFACE
D. INV_SERIAL_NUMBERS_INTERFACE
E. INV_TRANSACTIONS_INTERFACE

Answer: E

NEW QUESTION 56
A Java EE application that uses an EJB container must communicate with a legacy system developed using non-Java technologies.
Which two Java EE technologies can be used in the integration tier of the application? (Choose two.)

A. JMS
B. JSF
C. JPA
D. JCA

Answer: AB

NEW QUESTION 58
Given the code fragment:

What output will be returned when this servlet is called a GET request?

A. Service() method called.
B. Service() method called.Get() method called.
C. An HTTP error
D. GET() method called.

Answer: A

NEW QUESTION 59
Your web application requires logic to remember items that a user placed into a shopping cart. Which two mechanisms should you use to associate that
information with the user? (Choose two.)

A. HttpServletResponse objects
B. ServletContext objects
C. HttpSession objects
D. a database

Answer: BC

NEW QUESTION 60
Your client has not been managing Supply Request Exceptions on a regular basis. What issue does this cause?

A. No issues would be caused; these are just warnings.
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B. After the errors reach a set threshold in profile options, no new supply requests can be created.
C. If exceptions are nor resolved within a set threshold days, it alerts the manager and continues to escalate up the Supply Request Exception Chain.
D. The request will be denied automatically if not resolved within two days.

Answer: C

NEW QUESTION 65
Your customer has a requirement across their 10 warehouses, each with different users. They would like that whenever a warehouse user logs in, their warehouse
should get populated.
How will you achieve this?

A. Set up the profile option INV_DEFAULT_WHSE_ID at site level.
B. Set up the profile option INV_DEFAULT_WHSE_ID at user level for each user.
C. Set up the profile option INV_DEFAULT_WHSE_ID at role level (different roles for different warehouses).
D. Set up the profile option INV_DEFAULT_ORG_ID at user level for each user.
E. Set up the profile option INV_DEFAULT_ORG_ID at role level (different roles for different warehouses).
F. Set up the profile option INV_DEFAULT_ORG_ID at site level.

Answer: E

NEW QUESTION 70
Your company has multiple inventory organizations where goods are transferred internally. A user has created a new organization but new organization is
unavailable when creating an interorganization transfer.
What is the missing setup?

A. Inventory organization data access for users is not set up.
B. Interorganization Parameters are not set up between the organizations.
C. The destination organization transfer type is In Transit.
D. The source and destination organization doesn’t belong to the same legal entity.

Answer: D

NEW QUESTION 73
Given:

What code needs to be added to line 1 for MyMapper bean instances to be correctly passivated?

A. @Stateless @PassivationCapable
B. @Stateless
C. @Stateful @PassivationCapable
D. @Stateful

Answer: D

NEW QUESTION 76
A Persistence application locks entity x with a LockModeType.PESSIMISTIC_READ lock type. Which statement is true?

A. LockModeType.PESSIMISTIC_READ is the synonym of LockModeType.READ
B. This operation will force serialization among transactions attempting to read the entity data.
C. This operation will result in a TransactionRolledbackException if the lock cannot be obtained.
D. If the application updates the entity later, and the changes are flushed to the database, the lock will be converted to an exclusive look.

Answer: B

NEW QUESTION 78
You have been assigned to the Widget Editor portion of an application. It contains a Widget Editor Facelet page, the Widget class, and a simple WidgetEditor
backing bean, which contains a reference to the current Widget instance.
Given the code fragment from the Widget class:

Given the code fragment from the Facelet page:
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The page displays Conversion Error when a user fills out all the form fields and clicks the Save button. Which step do you perform to fix this problem?

A. Replace Line 1 with:<h: inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”converter=“java.util.Date”/>
B. Enclose the code fragment within the <f:view/> tag
C. Insert <f:convertDateTime”/> at Line 1
D. Replace Line 1 with:<h:inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”><f:convertDateTime pattern=“dd-mm-yyyy”/></h:inputText>

Answer: D

NEW QUESTION 79
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction
B. Obligatory Jurisdiction
C. Local Jurisdiction
D. Income Tax Jurisdiction
E. Transaction Tax Jurisdiction
F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 83
You want to allow one set of roles to POST to a resource and another set of roles to GET it. Which two configuration options should you use? (Choose two.)

A. two separate @HttpMethodConstraints annotations and sets of roles
B. a single @HttpMethodContstraint annotation and a map of method to roles
C. two <web-resource-collection> with different <http-method> in the deployment descriptor
D. a single <web-resource-collection> with two <auth-constraint> with different <http-method> in the deployment descriptor

Answer: BD

NEW QUESTION 84
Which statement is true about JAX-RS resource implementation?

A. The REST resource implementation class must extend the javax.ws.rs.core.Application class
B. The REST resource class can be implemented as a stateful Enterprise JavaBean (EJB).
C. The REST resource class can be implemented as a Plain Old Java Object (POJO).
D. The REST resource implementation class must not be final.

Answer: A

NEW QUESTION 88
A supply request has been received in supply chain orchestration. Both organizations belong to the same legal entity and they do not have a buy-sell relationship
between them.
Which type of execution document can fulfill the supply request?

A. Transfer Order
B. Purchase Requisitions
C. Purchase Order
D. Sales Order

Answer: A

NEW QUESTION 92
Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own manufacturing and distribution centers located
globally.
It has these business units: US - USA business unit
CAN - Canadian business unit UK - UK business unit
MX - Mexican business unit IND - India business unit SPA - Spain business unit FRA - France business unit
NL - Netherlands business unit GER - Germany business unit
These are the inventory organizations that exist in each business unit:
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Which two statements are true?

A. All inventory organizations do not need to be in the same business unit to assign items.
B. Item organizations are also supported to serve as inventory organizations.
C. Items cannot be assigned to inventory organizations across business units.
D. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.
E. Operational Attributes can be controlled only at the Master Level.
F. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

Answer: AD

NEW QUESTION 95
Given the code fragments:

Which action completes this composite primary key implementation?

A. Add @IdClass annotation at line 1.
B. Add @Embeddable annotation at line 1 and replace both @Id annotations with @EmbeddedId annotations.
C. Add @IdClass(ContactId.class) annotation at line 2.
D. Add @Embeddable annotation at line 1 and @EmbeddedId(ContactId.class) at line 2.

Answer: D

NEW QUESTION 98
Given the code fragment:

How can you apply DateConverter to the birthday field?
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A. by adding @Convert(to=Date.class) at line 3
B. by invoking the setConverter(DateConverter.class) method on the EntityManager object
C. by adding @Converter(autoApply=true) at line 1
D. by adding @Convert((DateConverter.class)) at line 2

Answer: A

NEW QUESTION 100
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.
B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 105
You created two filters for your web application by using the @WebFilter annotation, one for authorization and the other for narrowing results by the provided
search criteria. The authorization filter must be invoked first.
How can you specify this?

A. setting the priority attribute of the @WebFilter annotation for each of the filters
B. placing the filter mapping elements in the required order in the web.xml deployment descriptor
C. placing @WebFilterMapping annotations in the required order
D. specifying the filter precedence order by using the @Priority annotation

Answer: A

NEW QUESTION 106
You are a shop floor manager and you have received an order which is a back-to-back order in nature. You need to reserve 100 pieces of an item in order to finish
you order. However, there are only 50 pieces available for reservation.
If you process this request, how many pieces are provided as the fulfillment for the order?

A. 50 pieces, because full 100 quantities are not available.
B. 25 pieces, only half of the quantities can be reserved.
C. 0 pieces, because partial fulfillment of reservation not supported.
D. 100 pieces, 50 from on-hand and 50 in the form of a purchase order.

Answer: C

NEW QUESTION 110
You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you can receive partial messages. (Choose
two.)

A. Define an @OnMessage method with a single MimePart parameter.
B. Use a ChunkListener interface implementation.
C. Use a MessageHandler.Partial<ByteBuffer> interface implementation.
D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter.

Answer: CD

NEW QUESTION 112
You are working with JMS publish-subscribe operations.
What happens when a producer publishes a message to a topic for which a durable subscription exists but there are no subscribers available?

A. The publisher waits for a subscriber, who then consumes i
B. However, the publisher will time out if no consumer arrives within the given timeout period.
C. The publisher sends the messag
D. However, it is never consumed because there wasn’t anything listening when it arrived, regardless of the message timeout length.
E. The publisher successfully sends a message, which will be consumed later, once there is a subscriber, assuming the message hasn’t timed out.
F. The message publisher is immediately notified about the lack of subscribers and can decide for itself if, and when, to resend.

Answer: C

NEW QUESTION 117
What are the four steps for the move request process flow?

A. Create shipment
B. Create Movement Request
C. Confirm pick slips
D. Run the Movement Request Pick Slip Report
E. Physically move the material
F. Run pick slip allocation

Answer: BCDE
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NEW QUESTION 122
Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from current manufacturing will be added to current
inventory by the Open Transactions Interface. The immediate requirement is to go live with Inventory and Order Management.
Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process
B. Average Cost Update
C. Backflush Subinventory Transfer
D. Miscellaneous Issues and Receipts
E. All Internal Transactions

Answer: AC

NEW QUESTION 124
A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled once a year. This equipment is charged based
on its consumption without a project dependency.
At this point, it should be transferred out of the vendor’s warehouse for maintenance and then returned back in the future depending upon the requirement.
The material stock transfer should happen with an offline approval and with an account alias as a logical reference.
What is the ideal way to handle this process?

A. Transfer Order
B. Requisitions
C. Move Request
D. Miscellaneous Transaction
E. Subinventory Transfer

Answer: D

NEW QUESTION 125
While performing the task “Create Chart of Accounts, Ledger, Legal Entities, and Business Units in Spreadsheet Task”, you mentioned that the legal entity country
is the United States of America.
What will be the functional currency of the ledger you are defining?

A. The system will ask the user to provide functional currency at the time of uploading the spreadsheet if it is not provided in the first place.
B. The system will automatically pick “USD” as functional currency from the legal entity country.
C. The system will pock the first available currency from the list of Values.
D. It is mandatory to provide functional currency, because ledger cannot be defined without functional currenc
E. The system will throw an error upon processing.
F. It is mandatory to provide functional currency because ledger cannot be defined without functional currenc
G. The system will throw an error upon upload of the spreadsheet because all required fields are not populated.

Answer: B

NEW QUESTION 130
......
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